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1. HEdpdr4 > #F* ¥ 51 2 (MenuEngineering): ™% = 8 » WiFFE A7 UH - k5 - v H
A Bl o R L P& (Stars) ~ 2.5 (Plow Horses) ~ #1#8 (Puzzles) ~ & § ut
7w 21 (Dogs) = (5 #)
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) ) N (GO X - % 1 (6) Bap=r
. (2) &8 & (3) /e H W (4) a4
(1) $870p (NT$) (NT$)
(™) (NT$) %
(5)=(2)X(3) (6)=(4) X (5)

A 60 $300 45% $18, 000 $8, 100
PR 75 $200 28% $15, 000 $4, 200
EN N 48 $280 33% $13, 440 $4, 435
& % 50 $150 33% $7,500 $2, 475
FEa- 75 $75 28% $5, 625 $1,575
&3t 308 $1, 005 $59, 565 $20, 785
(7) a2 ap ot (7)) = (6)/(b) 20,785 / 59, 565= 34. 89%
(8) s ’%TEUEJ% (8) = (5) - (6)]|59,565 - 20, 785= $38, 780
(9) TH2E ppE 8% ?I‘Jc (9)=(8) / (2) |38,780 / 308= $126

S -2 (18, 000-81, 00)/60= $165

FER A (15, 000-42, 00)/75= $144
(10) = - & Zfw 7;'“[,?: EN (13, 440-4, 435)/48= $188

¥R (7,500-2,475)/50= $101

3 (5, 625-1,575)/75= $54
(11) T2 gy i B FenT o e 100%/5 =20 %

(Population Index) T iag gva= 20 X . 8= 16%

S 2 60/308= 19. 48%

FE R ap 75/308= 24. 35%
(12) # - ¥ H £ primenfe i

LR 48/308= 15. 58%

(Population Index)
p ¥R 50/308= 16. 23%
PR 75/308= 24. 35%
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